In April, 1820, Hans Christian Oersted discovered that flow of current
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carrying conductor or a moving charge in
which its magnetic effect can be felt.
e  Slunitis Tesla (T) = weber/m?

where, i = total current crossing
the area bounded by closed curve.
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e For 0 = 0, F = 0 along the magnetic field

e For 6 = 90°, i.e,, if charge’s velocity is
perpendicular to field direction, force is
perpendicular to both field and velocity.
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T 2mm If two parallel wires kept 1 m apart,

M ic field d and experienced force
agnetic field due to F = 2x107N, then current = 1A in each.
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